y = 0.00243 + 0.942 x
R2 = 0.98

0.2 A1

0.15+
0.1 1 = - 0.00147 4+ 1.03 x 0104 ) Y = 000236+ 1.01 x
: R2 = 0.95 0.05 L& RZ? = 0.95
0.05 0.17 0.28 0.05 0.14 0.23
40-45 m 45-50m
0.20 4 1
0.16 -
0.15 4
0.12 -
0.10 4
Y = 0.00288+1.08 x 0.08 4 Y = 000433+ 1.08 x
0.05 4 R? =089 R2 = 084
0.05 0.12 0.19 0.05 O.ll 0.17
55-60 m 60-65 m
0.16 21 014 -
0.12 seee) 0127 .
0.10 -
0.08 1 0.08 1
y = o.ooaosﬂzo.ees x| 0.06 y = 000229‘»104 x
0'04-l’ T = 0‘82l 004 "l 2
0.04 0.10 0.15 0.05 0.09 0.13
70-75m 75-80 m
y = —0.000168+ 1.11 x
RZ? = 0.64
0.06 0.09

KLu (m_

)

20-25m

0.3 4
0.2 A1

0.1+

—000316+103 X
R?

= 0.97

0.20

0.34

93
0.05 0.15 0.25
50-55m
[]
0.150 4
0.125 4 ® e
0.100 +
0.075 1 y = 0.00541 + 1.01 x
0.050 4 e
0.05 O.lO 0.15
65-70 m
0.12 A
0.10 A
0.08 1
0.06 4 y = 0.000556 + 1.08 x
R2 = 0.79
0.05 0.08 0.11
Wavelength (nm)
e 400 e 470 540
o 410 o 480 550
o 420 490 560
e 430 500 570
e 440 e 510 580
e 450 520
o 460 530



